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OOPS Using JAVA

PAPER _- 3101

Full Marks:70

Time'. 3 hours

The figures in the right-hand margin indicate marks.

Canclidates are required to giue their arLSLUers

in their own words as far as practicable.

Illustrate the answers tuhereuer necessary.

Answer Q. No. I and ang frve from the rest.

1. Answer anq ffire questions : 2x5:10

(a) Define OOP.
/.

.(bl Explain the term Data Abstraction and
Encapsulation.

t748 (Turn Ouer )

ffi



ffiP\1,+\
Cl 

- 
-- ,- -.-.lga-sg es E \\ o \\

&S P ^q= {\ F\ S 53 S'&[ E $q I E' q F[ [
a* E" $: 6 ; : #a ?

nE + sk r f fi "r 
=Ha H $r + $ [ #*B&N.F E E, E$€'f E'r ; 6";]E* B Br 5 SH B- I

g E qB: E. O

[ { -bJt [ 
+'

5'*'\RIdHF I F, ErE * * S n'

ii P t A H'

YS p- m {+5'sD 5 qt\)m p. o.

\

-\
g
tsJp
-
a

ot
6'^5gJo-
.D.U

€ aig *!'.r s{+-xf 6p- Etl g T7 0tr 3: ilts
F. ^ H U H. ()
A-iP=H-F.

H-:u"qo,niD5o6'a
i o o o f'oH ;ro. = 6'=fr 3-H 3'e,' 6A. _ O H
^---t
')t)-g 3.5 .) Q o6- *Q 6 X 5o 'P {u ,ts A 4,
F ocr [''-tUX.DU)
f$-r<i-4

^ru E { a Q <
t\l FJ ai -l ^ '-1+r5i;-Y-*-N A-i P .'o
; ? i t

U? T E O

+? + rq 
5FY".{6rPp.-

d+ialf :-IVlr;JO

t.\
o str o o s

$ *F F X$ BE fiSE ST i E; 8,5'EIH 3^< i H; 8o dF

f,'Ir Ef 11 $:s .+ A g p q'oS. F b' E'r P tsi; $ ; sg 33 EH P.; fiE' PF 5S 'n F EH fil l[ f,[ yE! H s?F d " ? F d ts6S E P cb ii 0 R-+Fil5c-iIiiP[$ EH I B N flNo-t\)o.pi'

ch

F H [.E rrti; f.[,' fi *f q

$ e, a gngE
1 [H E*HH$ B$ EqrS
E r[ flrqsPu $3 $s$qn,, 6F; l;

H T $[H:
E r [$ igils + a ErS.S Y S$ *l'H
S E $T EEa

B
{
+
6

^



(4t
(a) Discuss 'fall through'problem with example.

(b) Differentiate between'next}' and'nextLine}'
methods.

(c)

(d)

Explain autoboxing
exampies.

When is explicit
needed? Explain with

and unboxing witin

type conversion
example.

(e) Explain the string comparison methods
'equals}' and'compareTo' with exampies.

3+2+2+2+3:12

"r{ Al Discuss the life cycle of an applet.
(b) What wili be the output of the foliowing code

segment :

(L) int x=10;
y-++x+++++x--i
System. out.printh: ("x:" +x+",y=" +yl ;

(tt) String sL="He11o";

String s2=new String(s1);

System.out.println(s 1 -=s!+", "+s 1 .equals(s2)) ;

k) Differentiate between default and
protected access specifier in JAVA.

6+(2+2)+2=12
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